[ Efficiency vs vertpos |

~ 0.05

9,045 +-o-veeieeeeen :
4 : :
2 0.04F e :
(8] . .
$.035F oo :
S ;
£ 0.03F -+ [-roeeeioeeeeee 5'
0.025F -+ [-+eeviereeeen :

0.02F |- +remereeeenens 2
0.015F [+ fif-eeeens =t

0.01---
0.005

0

15

Ratio

i
+

1

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_retrain

Efficiend —— pom_mkFit_TTold

0.8

efticiency vs vert z

orf
T -
155 S U PN BN S S
odf b
o

0.2F oo

Ratio

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.05

£

0.015
0.0
0.005

> E E E
50.045f - oot
S0.04f - S S ot
9.035f - Boeesndiins :
P : : :
2 0.03f - Breseeeeden :
(] . . .

2.025f8 - RN -

(] N H .
I O R

...........

...........

OIIII
1.4:

1.2g

Ratio

1 . .
0.8+~ (R0 S EERP I i B

-10 5 0 5 0 15 20

éim. PV z (cm)




	Contents
	Page 1


